Virginia High School League District Competition, 2000-01 season

Match #17


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the District level by Shawn Pickrell. These questions are to be used by individual Districts to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition. 

a. Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security. 
b. Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security. 
c. After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged. 
d. These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means. 

First period: 15 toss-ups

1.
What term is used to a hydrocarbon that has only single bonds between its carbon atoms and has no more room for hydrogen atoms?

ANSWER: SATURATED
2.
This 19th century Danish writer wrote the play The Mulatto as a protest against slavery. Who is this man probably best known for Tales, Told For Children in which were contained The Snow Queen and The Princess And The Pea?

ANSWER: Hans Christian ANDERSEN
3.
THIS IS A COMPUTATION QUESTION. What is the perimeter, expressed as A + B PI, where A and B are integers, of a semicircle with an area of 64 PI?

ANSWER: 16 + 8PI (the radius is 8. Thus, the circumference of the semicircle is 8 PI, and the diameter is 16.)

4.
On January 21, Byron de la Beckwith died. de la Beckwith is best known as the murderer of what civil rights pioneer in 1963 Mississippi?

ANSWER: Medgar EVERS
First period (continued)

5.
What three countries joined in the partition of Poland?

ANSWER: PRUSSIA RUSSIA and AUSTRIA
6.
THIS IS A COMPUTATION QUESTION. A gambler wins if he rolls 7 or 11, and loses if he rolls 2, 3 or 12. What are the chances that he neither wins nor loses?

ANSWER: 2/3 or 24/36 (1 in 36 of rolling a 2 or 12, 2 in 36 of rolling a 3 is 4 in 36 of rolling a 2/3/12. 6 in 36 of rolling a 7, 2 in 36 of rolling an 11 is 8 in 36 of rolling a 7/11. 24 in 36 remains)

7.
He was convicted of driving the car, pulling the trigger, and using a firearm, but was acquitted of first-degree murder. Who is this former Carolina Panthers player?

ANSWER: Rae CARRUTH
8.
The Ozark Mountains are primarily located within what state?

ANSWER: ARKANSAS
9.
What type of evolution occurs over small periods of time and is an individual species’ method of adapting to changing conditions, without forming an entirely new species?

ANSWER: MICROEVOLUTION
10.
Ephraim Cabot abandons his wife and three sons. The youngest son, Eben, buys out his brothers, and Ephraim returns with his new young wife Abbie. Eben then gets Abbie pregnant, and Abbie kills her child to prevent it from getting between her and Eben. Eben and Abbie then go to jail. This is a summary of what play by Eugene O’Neill?

ANSWER: DESIRE UNDER THE ELMS

11.
This act, a part of the Compromise of 1850, provided that an only an affidavit by the claimant was sufficient proof of ownership. What was this Act that greatly expanded the powers of the federal government in pursuing runaway slaves?

ANSWER: FUGITIVE SLAVE ACT
First period (continued)

12.
What group of plant hormones promotes seed and bud generation, stem elongation, leaf growth and stimulate the flowering and development of fruit?

ANSWER: GIBBERELINS (jih-ber-REL-ins)

13.
What seven-letter word coming from Greek is used to describe the vocabulary of a particular discipline or sphere of activity?

ANSWER: LEXICON
14.
What name is given to the process where an object file has various library functions and other things added to create a final executable?

ANSWER: LINKING
15.
What Georgia Democrat has taken the lead in co-sponsoring President Bush’s tax cut program in the Senate?

ANSWER: Zell MILLER
Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.

1A.
Who painted the fresco of the Last Judgment for the ceiling of the Sistine Chapel?

ANSWER: MICHELANGELO
1B.
What six-letter word taken from the Latin is used to describe a gathering of members of an organization that is large enough to conduct business?

ANSWER: QUORUM
2A.
What three-word Latin phrase is given to a trial or arrest made for some action that was legal at the time of the action?

ANSWER: EX POST FACTO
2B.
THIS IS A COMPUTATION QUESTION. A man needs to make $150 more per week. How much of a raise does the man have to ask for in order to make this $150 over a 40-hour workweek?

ANSWER: $3.75 ($150 / 40 = $3.75)

3A.
Potential energy is present because of what property of an object?

ANSWER: POSITION
3B.
The Guru Nanak founded what Indian religion whose followers do not cut their hair?

ANSWER: SIKHs

4A.
What is this sentence expressed in the past perfect tense? I walk down the street.

ANSWER: I HAD WALKED DOWN THE STREET
4B.
What Mongol king tried twice to attack Japan and failed?

ANSWER: KUBLAI Khan

Second period (continued)

5A.
THIS IS A COMPUTATION QUESTION. What is the distance between the points (0,2) and (5,6)?

ANSWER: SQUARE ROOT OF FORTY-ONE (simple Pythagoras)

5B.
What principle, whose name comes from the German for ‘building up’, states that electrons will fall into the lowest energy level possible?

ANSWER: AUFBAU
6A.
Icarus, The Blue Nude, Woman in a Purple Coat, and The Rumanian Blouse are all paintings by what French painter?

ANSWER: Henri MATISSE
6B.
What leader of the Black Panthers wrote the autobiography Soul on Ice?

ANSWER: Eldridge CLEAVER
7A.
What war of the late 5th century BC was fought between Athens and Sparta for control of all of Greece?

ANSWER: PELOPONNESIAN war

7B.
THIS IS A COMPUTATION QUESTION. What is the derivative of the function y equals 3x – 2 over x plus 5?

ANSWER: 17 OVER X SQUARED PLUS 10 X PLUS 25 (accept equivalents)

8A.
What is the mass of one mole of water?

ANSWER: 18 grams

8B.
What country’s President, Abdurrahman Wahid, is now willing to appear before parliamentary corruption committees in Djakarta?

ANSWER: INDONESIA
Second period (continued)

9A.
A Journal of the Plague Year and Robinson Crusoe were written by what author?

ANSWER: Daniel DAFOE
9B.
What Indian chief’s rebellion in 1763 convinced the British to limit westward American expansion?

ANSWER: PONTIAC
10A.
THIS IS A COMPUTATION QUESTION. A student gets scores of 65, 89, 75 and 78 on his first four tests. What grade does he need to get on the fifth test to maintain an average of EXACTLY 78 over his five tests?

ANSWER: 83
10B.
What is the name given to the coral reef that surrounds a lagoon?

ANSWER: ATOLL
Third period: 15 toss-ups

1.
What is the numerical value that indicates how much solute is added to a solution to saturate it?

ANSWER: SOLUBILITY

2.
In this novel, the Russian Revolution disrupts a doctor’s life. He then falls in love with Lara, the wife of a revolutionary, and then is forced to wander Russia, dying penniless and in utter poverty. What is this epic story by Boris Pasternak?

ANSWER: DOCTOR ZHIVAGO
3.
Whose Canon in D major was sampled some 300 years later by Vitamin C in her Graduation?

ANSWER: Johann PACHEBEL
4.
What Indian prime minister was assassinated in 1984 by her own Sikh bodyguards?

ANSWER: INDIRA GHANDI
5.
THIS IS A COMPUTATION QUESTION. A company wishes to devote 10% of its profits to charity. If the company had $500,000 of sales, and kept 30% of its sales as profit, then how much gets donated to charity?

ANSWER: $15,000 ($500,000 – 30% of sales is $150,000 – 10% of profit is $15,000)

6.
What Australian actress who first hit American sensibilities as Queen Elizabeth in Elizabeth plays a clairvoyant Southern woman in The Gift, and will play Galadriel in The Fellowship of the Ring?

ANSWER: Cate BLANCHETT
7.
What legendary American soldier, a veteran of the War of 1812, the Mexican War and the Civil War, was known as ‘Old Fuss and Feathers?’

ANSWER: Winfield SCOTT
Third period (continued)

8.
THIS IS A COMPUTATION QUESTION. A cone and a cylinder both have a height of 10 inches and a radius of 6 inches. How many more cubic inches, expressed in terms of PI, are in the cylinder than the cone?

ANSWER: 240 cubic inches (the cylinder if 360 cubic inches, the cone is 120)

9.
A football player runs down the field. After 1 second he is at the 10 yard line, after 2 seconds he is at the 20 yard line and after 3 seconds he is at the 30 yard line. What is the player’s acceleration?

ANSWER: 0 meters per second (his velocity isn’t changing)

10.
‘Hog Butcher for the World, Tool Maker, Stacker of Wheat’ are the opening lines for what poem by Carl Sandberg?

ANSWER: CHICAGO
11.
THIS IS A COMPUTATION QUESTION. If the sine of an angle is the square root of 5 divided by three, what is the cosine of the angle?

ANSWER: 2/3 (square root of 5 divided by three all squared is 5 over 9. using the Pythagorean identity, the cosine squared plus sine squared – 5/9 – is one, thus the cosine squared is 4/9 or the cosine is 2/3)

12.
What is the name given to the steep, bowl-shaped depression that surrounds a vent, which is an opening through which lava, gases and hot particles are expelled?

ANSWER: CRATER
13.
His tail is attached with a nail, and his bitter, self-deprecating comments make him an effective foil for a bear of Very Little Brain. Who is this melancholy donkey, friend of Winnie-the-Pooh?

ANSWER: EEYORE
Third period (continued)

14.
How many movements are in the symphonies by Beethoven and most classical composers?

ANSWER: FOUR
15.
Who was the defending attorney in the Scopes monkey trial?

ANSWER: Clarence DARROW
Spares
What is the name of the watery substance that forms the ‘base’ of human blood?

ANSWER: PLASMA
Who is the author of the books A Man In Full and The Bonfire of the Vanities?

ANSWER: Tom WOLFE
What psychological term is given to a person who places negative factors associated with one group or person and then associates them on another group or person?

ANSWER: PROJECTION
On his birth, his mother, Frigg, took oaths from all creatures and objects to not harm him. The mistletoe was thought to be too young and slender to harm him. Who was this Norse god that was eventually killed by a thrown mistletoe branch?

ANSWER: BALDER

THIS IS A COMPUTATION QUESTION. A building casts a shadow of 200 feet. A yardstick casts a shadow of 72 inches. How tall is the building?

ANSWER: 100 feet
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